8 AEREIEESITIES
8 AN EER
EBEIEYE X LEHaaT
- o (XAEE) [0
HEAELE 90, 000 E%%% 80' 000
HHEE 127, 600 E%%% 197600
0
L#RE 257,592 E%%g; 257,592
0
LR 2,650, 392 E%%g; 2, 650, 392
= . 0
R ESHE 0 E%%% 8
PN
== 8. 108 Z o) 18,708
| B ERE 0
BREAE 11, 483
AFEE 449, 467 )
= EX 0
EEE 734,104 (0O (734,104
H 4,329, 346|3BEET [0
264 E %EME%%% 4,329, 346 B[
5] B B = B fif + % F:81EH S
4 |ERl - B8 —XH 3L, 1I0|EFHmE (ZDh) [Va—U—X#
ET S 1,836|£EE (F0ih)  |<ILTY
6 |EEHAEERK 1,285|REE (Z0f)  |RILTY
7 JE—#) —XH 44 625|=EFFrE (FDh) |Biixvy EZILE
1 | EERAEERK A9|£EE (Zoih)  |[ILTY
7 SERAEEAR 3, 456|SEE (F D) AEBEXRE
12 | SE2RAEERK 1,602[&£EE (Zih)  [wILTY
18 [EFHmMERE 9AH 50, 432| = E (FDih) [BEEEFERT
20 [ F— %«v 2 EHth 48, 53| EHE (F0M) [V=vH R
20 #JréxH)zML\ﬁMEﬂ 1A% 170, 064|[EEE: (F0fth)  [HAEREH
21 |EBARE 98, 50, b40[E=FHFE (F D) |FIAZEEF
22 =R E 98, 50, 324|EFHE (M) |EFEHAN
23 |AERENBEEMESSNE 127, 600|BHEE (D 1th)
25 |AEE#FE 8H R 1,887| ERBEAE NERFRE
25 |HEE#HE 8A R 4, 509| EHEBEAE BiZsEHE
25 |EEEEHKS 8AH 227, 150| N\ 4%
26 |43 —2y H%ﬁ#—h JE—F v — T 151, 196 | E (F M) |E—T L9 T54
26 |EHEH#ME 8H R 4, 037|EHEAE ASASEETE O
26 |[EEK 1 050 B HEAE
26 |ZEHARE 9B, 50, 324|E=FHFE (FDih) [EBEEERT
26 %w RE I8 50, 108|E#E (FDih) | KM EIFFT
26 —)ME 36, 408|[L ¥R E (Z D) < MEHK
26 |EEMERE 98, 50, 42[E=HE (FDMh) |BBEHEFH
28 | RER7 45— FEUER 2,480, 328|[LEEE: (Fih)  [BAH D ZEIRIK
29 |74 R 8BS 119, 000| A £ &
29 |74 R 8BS 44, 000] A - &
209 ESHEMEE 90, 000|FAEMZEE (ZD1h) |FENEEE AT
29 [=a— ZEHF‘IHJC 221, 184|[L3RE (FDfth)  |BZ2KREIRFI
31 |EBARE 98, 50, 000|E= i E (F D) |iBE/KEHEF
31 |EHEFRRE 98, 50, 000|=#%rE (FDih) |fBHEHFAT
31 |EBARE 98, 50, 000[E=HfE (FDMh) |EXNEHFFAN
31 |74 R 8BS 52, 000| A - &
31 |7ZILNA4 X 8BS 1,317 NHB-&




